
Užitočné vzorce 
 

- sin2 𝑥 + cos2 𝑥 = 1                                𝑥 ∈ 𝑅  

o  1 + 𝑐𝑜𝑡𝑔2𝑥 =
1

sin2 𝑥
 

o  𝑡𝑔2𝑥 + 1 =
1

cos2 𝑥
 

- 𝑡𝑔 𝑥 ∗ 𝑐𝑜𝑡𝑔 𝑥 = 1                                   𝑥 ∈ 𝑅 − {𝑘 ∗
𝜋

2
, 𝑘 ∈ 𝑍} 

- Párne funkcie 

o  cos −𝑥 = cos 𝑥                        𝑥 ∈ 𝑅 

- Nepárne funkcie 
o  sin −𝑥 = − sin 𝑥                     𝑥 ∈ 𝑅 

o  𝑡𝑔 − 𝑥 = −𝑡𝑔 𝑥                      𝑥 ∈ 𝑅 − {
𝜋

2
+ 𝑘 ∗ 𝜋, 𝑘 ∈ 𝑍} 

o  𝑐𝑜𝑡𝑔 − 𝑥 = − 𝑐𝑜𝑡𝑔 𝑥            𝑥 ∈ 𝑅 − {𝑘 ∗ 𝜋, 𝑘 ∈ 𝑍} 

 

- sin 2𝑥 = 2 sin 𝑥 ∗ cos 𝑥 

- cos 2𝑥 = cos2 𝑥 − sin2 𝑥 

- 𝑡𝑔 𝑥 =
sin 𝑥

cos 𝑥
 

- 𝑡𝑔 𝑥 =
1

𝑐𝑜𝑡𝑔 𝑥
 

- 𝑐𝑜𝑡𝑔 𝑥 =
cos 𝑥

sin 𝑥
 

- 𝑐𝑜𝑡𝑔 𝑥 =
1

𝑡𝑔 𝑥
 


